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1. —RBEHE RMKER DB

EMKERBRTFH

(1) SM2FEFE (H4)

= FEEE RERLLE = FEEE RERRLE
A % e %

1.:& = & 359,605 03 |9 .4 B & 814,550 0.6
2 .8 % =1 5,421,914 4.0 [10. % Ef = 8,412,622 6.2
3.R S | 53,694,498 39.8 ||11. ¢ & 18 1B & - -
4 . & £ =1 9,258,653 6.9 [12. & & |l 11,950,185 8.9
5.% &) = 123,721 01 [[13. 3% % H = 5,840,011 4.3
6.8 M X =1 1,129,279 0.8 | 14. B 8 | 16,825,686 12.5
7.7 T #| 11,210,444 83 |[15. F fiis =1 100,000 0.1
8.+t ZN = 9,708,832 72 & 57| 134,850,000 100
(2) HM3FEFHE (44)

= FEE AL = FEEE RERRLE

e % iiE %

1.8 &= =1 354,178 03 |9 .3H il & 666,184 0.5
2 .8 % =1 5,420,756 4.0 [10. % Ef & 6,664,339 5.0
3.R £ | 54,210,837 404 ||11. % £ 5 H & - -
4 .1 c3 |l 11,359,086 85 [12. & & |l 11,595,624 8.6
5.% & =1 133,809 01 (13. 3% X H = 5,145,680 3.8
6.8 M X & 1,159,492 0.9 |14. B 8 #| 16,512,252 12.3
7.7 T 2| 11,415,447 85 |15. ¥ fii = 200,000 0.1
8.+t N = 9,462,316 70 & =f| 134,300,000 100.0




2. EMKEBDOEKLE

FE S 2 EE (49) SMIEE (49)
X Hi Xt Hi
e TE% R FEE AL
Fit FIt
M8 % A %
— % £ =t A | 134,850,000 99.4 134,300,000 99.6
% %
EMNKEE B 1,129,279 140.7| 0.8/ B/A 1,159,492 102.7] 0.9] B/A
E ™M & C 218,569 94.9| 19.4| c/B 467,808 214.0| 40.3| Cc/B
BEZELE D 11,912 99.4| 5.5| D/C 11,100 93.2| 24| D/C
EMBEE E 37,669 90.9| 17.2| E/C 33,428 88.71 7.1l E/C
EX¥IREE F 97,680 110.7| 44.7| F/C 331,002 338.9| 70.8| F/C
MERBEE H 71,308 80.4| 32.6| H/C 92,278 129.4| 19.7| H/C
KoOE B 639,764 170.6| 56.7| 1 /B 432,415 67.6] 37.3| 1/B
IKEKRBEE ) 51,730 166.5| 8.1 J/|I 59,223 114.5| 13.7| J /1
KERBEE K 543,151 172.6| 84.9| K/ | 339,614 62.5| 78.5| K/ I
BMEERBRE L 7,649 1065 1.2| L/ | 7,262 949 1.7\ L/
BHEEFEE M 37,234 168.6| 5.8/ M/ | 26,316 70.7] 6.1 M/ |
RME RS N 47,946 - 42| N/B 47,269 98.6| 4.1| N/B
NEE S B ' - : : :
o5 E OFE
+ i 0 223,000 113.2| 19.7| O/B 212,000 95.1| 18.3| O/B
il =




3. HAEHGEHISERTHRE

(1) 5M2 - 3EERHREES L UOBRSEE

O KEY R A EITE 5
R S 2 F£E SM3EE
e By ERE)) & )
R ok #H = 19,512 t 19,366 t
B &% &= % 13,913,926 F+H 13,646,628 F+H
SR A ETET S
FE S 2 F£E SHM3EE
e - 28 (& ) (& )
B & #H = 36,905 t 34577 t
B &% % # 9,713,286 F+H 9,169,033 F+H
(2)5M2 - 3SEERARETE
% A % &H
S 2 FE SH 3 EE S 2 EE S 3 EE
(& #) (& #)) (& ) (& ¥
7Sk =] !
& B | WAL | & % | Bt & % | Bkt | & % | Bt
== S N A % FA % ¥R % ¥H %
. 1131,335 30.9| 129,554 30.8|f #H & 1 #&| 328,225 77.2| 331,629 78.9
F #H #
B E I A 3,456 0.8 3,352 0.8 & | 62,094 14.6] 55,011 13.1
& A =] 223,000 52.5| 212,000 50.5((8%: =] #| 32,681 7.7 31,360 7.5
T B % 1 0.0 1 0.0F fis #| 2,000 0.5 2,000 0.5
% I Al 67,208 15.8| 58,893 14.0
il & 0 0.0| 16,200 3.9
= =+ 425,000 100.0| 420,000| 100.0|& =+| 425,000/ 100.0| 420,000 100.0




